(@) 5%° +2x° - 3x 5xy”

5

© E,..

ﬁwgg (N) (5x%)(2x)(-3x?) (@) 16x®

§E&¢E ©4x3+x2+4x @3x+2y

828 g

fese (D) (@x®)(x?)(ax) (5 7x%y - 2xy?

BHT D @ —-3x> + 5x° — 3x> 4x®

£ BE @ =

§E3E (A) (-3x)(5x3)(=3x%) ax® + X2 + 4x

.§6 [ 8 @ 3x + 2 xa

- ;8 p X y 45

I T @ Gy @) -1axy®

:’é%@‘g‘ | ® 7xy? — 2xy* @ -30x°®
=005

8883 ©) (7xy%)(—2xy?) (2) —1ax?y*

g%é%? O 7y -2 oL

£8523 0 A xy(-299) —6x° + 5x2

(D) (3a)(@?)(a°) + (2a)(a*) —~2a%°
@) (a*)(5a)(@ + (—4a°)(2a%)(a) (4) 13a%
W) (2a%(@*)(3a? + (8a%)(~a)(a) {2 -3a’
(D) (sa%(2ab) + (a°b)(3a) @ o

(H) (2ab®)(-2ab?) — (ab®)(6a°b) ~10a°b"

©

@ (—a°b)(ab®)(a’b®) + (a°b?)(—a°b®)
(P) (4a°b?)(~3b°) ~ (2ab?)(-6ab?)

5

o))
V)
~
|
o
1)




=y Write the letter of each exercise

in the box that contains the number of the ans
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Simplity the expression. \  Write the expression without exponents.
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Simplify the expression. Ly Write the expression without exponents.
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